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Note : 1) Question no. 1 is compulsory. re&l,& ®»
2) Solve any Three questions out of remaining Five questions. SR “é;%
f" :"‘.

1. a) Explain different types of transparencies in distributed databﬂse&* w >
b) What 1s a view? Discuss the difference between a view and a IJEQE relation.

¢) Explain Factless Fact Table. - ~—-~'1*’“
d) Ilustrate the concepts of embedded SQL. {_‘-f_!,‘.q_—x @
G W 11/?
\::‘_":I‘- 1:'5:'
2. a) Listand explain the operations on Files. b
~ b) Create an ER model for a Railway system with fola;}gﬁ1x>onstrainlf;:
1) Stations o~ x: > 4

1) Tracks, connecting stations. You can ass e‘ﬁfr simplicity that only one
track exists between any two stations. A wmfﬁ?mk‘; put together form a

graph. f;/:’,;;;.ﬁ\ ‘\\}
1) Trains, with an 1D and a name = & ;”

1v) Train schedules recording whqt’hm@sa train passes through each station
on its route. You can d\humc\%\wphml} that cach train reaches its
destination on the same daf? aﬁ;{df\ﬁgverf train runs every day. Also for
simplicity, assume that f‘ﬁﬁ‘gdth ‘train, for each station on its route, you
store (a) time in, (b) Wﬁ%tfﬁdmh as time in 1if it does not stop), and (c)
a sequence number s the ,Qtalmnq i the route of a train can be ordered
by sequence beei;} -

v) Passenger bookit _rccrﬂflstmg cf train, date, from-station, to-station, coach,
seat and paqgiﬁ_dg,t,rﬁaﬁm, for simplicity, don't bother to model passengers
as enutle:s, /,?.

(/
3. a) Explain the @;gﬁ[ Database Concepts with:
1) Object lﬁfﬁglty

n}”@;g Wrucm's
i) Ty h1erar-::h'es and inheritance and
A VREx nts,

b) Wh is the eatity-relationship modeling technique not suitable for the data

N Qﬂw@\ﬁ:hm'&. *?7 How 1s dimensional modeling different? What are hierarchies
(E’\ ?md categories as applicable to a dimension table?
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4. a) Design a schema in SQL for a Library System. Show one example eaci@r ‘;‘w

,,,ff

Primary key and Foreign Key constraint. Create one suitable ECA examkqfﬁ*\s

enforce the Library constraint. \Q”
b) Consider a data warehouse for a hospital, where there are three dimensioy
1) Doctor, 11) Patient and 1) Time and AC
two measures i) Count and 11) Charge. ==
Using the above example describe the following OL. Eqp&atmns
1) Rollup, 11) Drilldown 111) Slice 1v) Dice dnd(ﬁ Pw%}

§

5. a) Give three reasons why you think ETL functions driy%t cﬁalienumb a data
warehouse environment.
b) Analyze the log after crash shown in Table-1 aﬁ— 1y answes: the following
questions: \\l,\_,f
1)  What are the roles of the Analysis. Rﬁ‘l m@.ﬂ&‘%d{] nhases in ARIES?
11) What is done during Analysis? (Be p c:f#f: abour the points at which
Analysis begins and ends angfdeé ibe the contents of any tables
constructed in this phase.) \\
1) What is done during Redngfr%%é%e about the points at which Redo
begins and ends.)
1v) What is done during L |
begins and ends. $
,\.m;Ea %} ’Log after a crash.

¢ (% precise about the points at which Undo

0 BEng C %PO[M

5 | END'@HECKPOINT (EMPTY XACT TABLE AND DPT)
10 ﬁ ,tﬁ)p}afrE Pl{OLD: YYY NEW: ZZZ7)

15 4TTUPDATE | P2 (OLD: WWW NEW: XXX)

20, T% COMMIT

4?& “>-—-u"

6. a) Wtﬂi_‘mi@blc reational schema give at least two examples of Simple and

% ed ¢ 1es.
b) am in saort the concerrency control in distributed databases.
C) N :Jix ain Role-Based Access Control for Multilevel Security.

(’ x Describe the following OQL concepts (any two):
f:‘ 1) Database entry points,
{\ 11} Path expressions,
‘\é‘) 111) Iterator variables,
1v) Named queries (views),
v) Aggregate functions, grouping, and quantifiers.
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